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E |FrEET ESIES] B 3308010 |15 H1 5.00
s |FrEET ESIES] B 3308010 |15 H2 5.00
s |FrFEET ESIES] B 3308010 |15 H3 3.00
E |FrEET ESIES] B 3308010 |15 H4 1.70
E |FrEET NEIIES] TLWH 3308020 | FLLUH H5 3.00
s |FrEET NEIES] TLWH 3308020 | FLLUH H6 2.00
s |FhEHET NEIIES] TLWH 3308020 | FLLUH H7 1.49
E (AR AR ET KR 3218010 |BTF S48 2.99
E (AR AR ET KR 3218010 |BTF S49 2.85
i EL AR ET KR 3218010 |BTF S50 4. 47
e |RR™ ERT INEL INER 3218020 | X& S52 3.00
HE |RRT AR INELL INER 3218020 |[XK& $h3 3.00
e |RARTWT AR INE L INEIR 3218020 | K& SH4 4.00
HE |RRT AR PN R 3218030 [R=\#5 S60 3.00
e |RR™ AR PN R 3218030 |J&.i#& S61 3.00
e |RR™ AR PN R 3218030 |&.i#& S62 4.00
HE |RRT AR K&k R 3218030 |&.i#& S63 5.00
i EL AR INLOHE Adth 3 3218040 |/MLUH H1 6.00
E (AR AR INLOHE Adth 3 3218040 |/MLUH H2 5.00
E (AR AR INLOHE O JiR 3218041 |/MUHAEE 2 S54 3.67
e |RR™ AR PN R 3218050 | K& H4 3.00
e |RR™ AR PN R 3218050 |XEk H5 1.97
e |RR™ EE:?F'T K&k A 3218050 |XE H6 0.16
i EL LREVNE rFRE b AL 3322010 | LR E S52 4.00
E (AR AR ET = b AL 3322010 |[EF & SH3 2.93
E (AR A AT rFRE b AL 3322010 |[EF & SH4 2.71
E (AR A AT rFRE b AL 3322011 | EFEEBE 2 SH8 3.92
E (AR AR ET = b AL 3322011 | EFEEBE 2 SH9 4.00
E (AR A AT rFRE b AL 3322011 | EFEEBE 2 S60 3.00
E (AR AR ET rFRE b AL 3322011 | EFEEBE 2 S61 3.00
E (AR A AT rFRE b AL 3322011 | EFEBE 2 S62 2.70
oia |ART AR ET T gty 3322020 [#)1] SH3 3.97
oia |ART AR ET T gt 3322020 [#)1] SH4 3.64
oia |ART AR ET T gt 3322020 [#)1] Sh5 3.70
Fia |ART AR ET T gt 3322020 [#)1] S61 4.00
oia |ART AR ET T gty 3322020 [#)1] S62 8.00
oia |ART AR ET T gt 3322020 [#)1] S63 2.40
E (AR AR ET JIIA S/ RE 3322030 (JIIA Sh5 4.00
E [RARET AR ET JIIA 3 ) RE 3322030 (JIIA S56 5.00
E (AR AR ET JIIA S/ RE 3322030 (JIIA Sh7 5.30
E (AR AR ET JIIA —4&20 3322031 |JIIRE 2 S58 3.99
E (AR AR ET JIIA —4&20 3322031 |JIIRE 2 S59 6. 00
E [RARET AR ET JIIA —4&20 3322031 |JIIRE 2 S60 5.00
E (AR AR ET JIIA —4&20 3322031 JIII*J’%' 2 S61 3.18
e |RAR™ ¥ #ART NS A4 3322040 [Z A S63 8.00
e |RARTW AT g =2 3322050 |[&EE S63 1.67
e |RARTW AT g =2 3322050 |[&E H1 7. 66
e |RARTW AT g =2 3322050 |[&EE H2 2.00
e |HARTW AT g =2 3322050 |[&EE H3 0.38
Hiam |ART A HAET g =E| 3322050 |[&E H4 0.10
HE |ERT ¥ #ART ZH 5 3322060 |&& H1 2.00
HE |ERT ¥ #ART ZH 5 3322060 |&& H2 3.00
HE |ERT ¥ #ART ZH 5 3322060 |&& H3 3.00
HE |ERT ¥ #ART ZH 5 3322060 |&& H4 3.00
HE |ERT ¥ #ART ZH 5 3322060 |&& H5 1.34
Hiam |ART A HAET HER FA 3322070 |gEiR H4 3.00
Fiam |ART AR ET HER FA 3322070 |#EiR H5 3.29
Hiam |ART A HAET HER FA 3322070 |gEiR H6 2.98
Fiam |ART AR ET HER FA 3322070 |gER H7 2.97
Hiam |ART A HAET HER FA 3322070 |gEER H8 2.61
Fiam |ART AR ET N RiE 3322080 | AlIFR H7 2.95
Hiam |ART AR T N RiE 3322080 | AlIFR H8 1.47
i |ARM FERAET R 575 B 88 K 3322090 |FaIa/rpe A H8 3.52
i |ARM FRAET [RERE K 3322090 |FATa/Rpe A H9 3.37
i |ART FHAET BERE ik 3322090 [FATaAPEER H10 2.80
i |ARM FEHAET Z‘H’r\ feisa K 3322090  |FAT 5 iEA H11 1.58
e |[ART A BT f= fE& 3322100 [ E H9 1.36
e |[ART A BT f= fE& 3322100 [ E H10 3.53
i |ARM FEHAET f= fE& 3322100 [ E H11 1.20
e AR FHART INER X7+ 3322110 [ X2+ H9 2 24
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Hh g =+ < == < > = s =
;ﬁ g _ %nf fﬁﬁ _ |E E;Tnmm ﬁ%k% rEE ] M #h % WwE | sEEE
7 MEL LN NEA X727 3322110 | KT F 10 1.78
i3 [aph HT BE HE 3322120 |1 H12 6. 00
i3 [aph HT s HE 3322120 |12 H13 3.65
S5 (mem  [HAmE #H I=CUR 3322130 [I=— R H3 3.50
75 [AAm HT #EH ISCUR 3322130 _[[=C YR H14 6.00
3 ME X, A5 (Y ®E [ UR 3322130 |I=— YR H15 8.70
8 PRSI [ R Tl 3301010 [ H 548 0.99
e BIEST [ = Tl 3301010 [{£H 549 2.78
e BIEsT  [ZmEa 20 Tl 3301010 [{£H S50 1.90
L il BER 3304010 [ '
i M0 L _ % R 563 3.00
i M0 L il BER 3304010 | iR H1 £.00
i M0 L il BER 3304010 | iR H2 2,30
i [MEEH  |Eah i BeiR 3304010 |BER H3 0. 60
IHm [EEE Hi5 VIX= 3304020 [t 35 '
it Mok 1 EELL z ] Hip H6 2.00
B [fEmr 38 VEYY 3304020 |5 '
we [ESh  |[EmH His JEY = i =
e (FEET 2R AT =K =1 X 3304020 |18 Hg 0.12
i M0 L BR R 3304030 [35iR H13 2.00
i M0 o L PR BRI 3304030 [:53R H14 .50
R £ 3311010 |2 S54 '
TS
TN == -+ —=
g? EZQ; ij”; B L 3311020 |BEON gg? 9.36
M L BR FERLL 3311020 |BEOR S58 172
T — T AT R 3371020 [BER 59 1.00
Do VT BR 3371021 [HABD HG 647
% W T L YL R R 3371021 A% HG .55
M L HR R 3311021 [BERE 2 7 2.60
it M LT LJIES g/; HR 3311021 |FERE 2 Hg 273
it M LT LJIES %15 BE 3311030 |25 358 5.00
it Ml LT L JIES 515 BE 3311030 |2{% S59 5.00
7 LT L JIES L2 BT 3311030 |25 S60 1.36
7 M LT L JIES LI E3=% 3311031 |ERE 2 Hi 7.17
7 M LT L JIES £ R 3311032 |EREZ 3 H2 7.00
i ML L JIES 25 R 3311032 |ERE 3 H3 5.00
7 M LT L JIES 53 CIIE; 3311040 |23 S60 6. 80
7 LT L JIES EE 1ING 7 3311040 |23 S61 3.00
7 LT L JIES E 1ING 7 3311040 |23 S62 2,90
7 M LT L JIES E =R 331104 |BHE2 5 10. 00
7 LT L JIES CE; =R 3311041 B35 2 H6 5.00
7 M LT L JIES EE =R 331104 |BHE 2 H7 5. 56
7 M LT L JIES =5 =R 3311041 B35 2 Hg 419
7 LT L JIES EE =R 331104 |BHE 2 HO 1.54
i ML L JIES T48 =] 3311050 | R 28 361 6. 00
i ML L JIES T48 =] 3311050 | R 28 S62 5.00
i ML L JIES T48 =] 3311050 | F28 S63 5.00
i ML L JIES T48 =] 3311050 | a8 i 5.00
i Ml LT L JIES T48 =] 3311050 | a8 H4 3.58
7 LT L JIES ;F%E M= 3311050 | a8 5 0.15
7 M LT L JIES iJi# TNEES 3311060 [/hNEA 362 3.00
it T L JIES iJi# NEA 3311060 [/hNEA S63 9.00
it T L JIES iJi# NEA 3311060 [/hNEA H 9.00
it T L JIES iJi# NEA 3311060 [/NEA H2 1.00
it T L JIES iJi# NEA 3311060 [/hNEA Ha 1.32
it T L JIES iJi# NEA 3311061 |/NEIAE 2 HO 1.58
it T L JIES it NES 3311061 [/NEIAE 2 H10 465
it T L JIES it E/NEA 3311070 _[B/NES H2 12.00
it T L JIES it F/NEA 3311070 [BI/NER H3 10.20
it T L JIES it F/NEA 3311070 [BI/NER H4 2.20
it T L JIES it F/NEA 3311071 _[FANEAE 2 H3 3.00
it T L JIES it F/NEA 331071 _[F/NEI A% 2 4 3.00
it T L JIES iJi# BINEA 3311071 B/ EAE 2 H5 3.00
it T L JIES iJi# f1H 3311080 |3n3E Ha 418
it T L JIES iJi# A 3311080 |3n3E H5 0.77
it T L JIES iJi# SR 3311090 |2E4R H5 1.00
it T L JIES it SR 3311090 [SE 4R H6 3.00
it T L JIES it SR 3311090 [SE 4R 7 .89
it M LI }é# SF AR 3311090 | L8R Hg 557
it T L JIES 2% T 3311100 /8% H9 £.20
it T L JIES %% /R 3311101 |AEE 2 H10 2.30
it T L JIES %% N7 R 3311101 |2E% 2 AT 412
it T LJIES %% N7 R 3311101 |ZAE% 2 H12 2.69
it M LJIES %% N7 R 3311101 |AEE 2 H13 2.00
7 ML Rl A IR 3311101 |BBH 2 H14 .00
- Mt i AHFEER  [B 4202010 _|fE.E 5 3.00
L MYt L KRR (B 1202010 _|fE £ H6 2.83
L MYt L RHBER (B 1202010 _|AE £ H7 .86
Kl S5 Efin RAEMELAT |t 4202011 |[BErZ 2 H13 2.50
L MYt Efin RIEMEEAT |6 1202011 | EE 2 H14 0.46
5B _[EEm T AKIRET EERE 4202020 |7 9 710
5B _[EEm D AKRET EEES 2202020 |7k7% H10 3.00
MM o EE AKAHT EERR 2202020 |7k7% AT 277
Mt ] LEH R 4215010 |.E8H 556 3.00
Mt 2 HER 4215010 | E#2H S57 £.00
- e L& HER 4215010 | E i 558 2.90
L MYt ;E;E 2R tRETE 4215020 | &R S60 3.00
- e EiR EErE 1215020 &R 561 5.00
- e B LH7E 1215020 [&R 562 2.36
L MYt ;E;E ifrﬁ L 4215030 |t 7 & S61 1.50
L MYt ;E;E G = 4215030 | T+ & 562 0. 60
e R oI 1215040 [l 563 53]
Ef B e fg?ﬁtﬁ BT 4215050 |dLigtE H 2410
Bl E ;EEE igcn IEIER 2215060 |15 Hi 6.00
Ef B ;EEE e IR 4215060 |15 H2 0.96
Bl E ;EEE 'Fig Fir 4215070 | Fi& 2 530
Bl E i Ti& i 4215070 | Fi& H3 6. 85
= R Ti5 TiE 4215070 | Fi& H4 0.65
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Hbig BT |H 7 BT REXF RE=F Mih&E S GifiuE Fil F EHEmE
EfE | ERE| WmET —_HHET HDE 4215071 |TFIEE 2 H7 4.25
EfE | ERE| WmET —_HHET HDE 4215071 |TFIEE 2 H8 4.55
EfE | ERE| WmET —_HHET HDE 4215071 |TFIEE 2 H9 6. 40
EfE | ERE| WmET —_HHET HDE 4215071 |TFIEE 2 H10 0. 64
EfE | ERE| WEES EH RA 4215080 [EH H3 2.92
EfE | ERE| WmET IS T 4215090 |#EA H4 5.67
EfE | ERE| WmET IS T 4215090 |#EA Hb 0. 60
EfE | ERE| WmET IS B4R 4215091 |#ERE 2 H10 5.80
EfE | ERE| WmET IS B4R 4215091 |#EARFE 2 H11 6.20
i |[EEH WmET IS B4R 4215091 |#ERE 2 H12 3.18
ERE |ERET| WHES Fig p NIl 4215100 |Li§ H5 7.00
EfE | ER™| WEES +Fig pNII| 4215100 |Li§ H6 3.08
K |[EEH WmET i pNII| 4215101 |LEIEE 2 H6 3.10
K |[EEH WmE™T i pNII| 4215101 |EIEE 2 H7 1.89
EfE | ER| mEST INE =YER 4215110 [/NE S62 0.53
EfE | ER| mEST INE =YER 4215111 [\NEE 2 H7 5.75
EfE | ER| mEST INE =YER 4215111 [\NEE 2 H8 1.70
K |[EEH WmET Al A2 SR 4215120 (Al H13 2.95
K |[EEH WmET Al A2 SR 4215120 (A1l H14 2.18
K |[EEH WmE™T Al INR 7R 4215121 |AJIE 2 H16 5.09
K |[EEH R AT FA/R Btk 4401010 |[E#& H7 2.00
K |[EEH R AT FA/R Btk 4401010 |[E#& H8 6.00
K |[EEH R AT FA/R Btk 4401010 |E#& H9 5.48
i |EiH R AT FA/R Btk 4401010 |[E#& H10 1.13
i |EiH R AT FA/R Btk 4401011 |B#E 2 H11 1.00
K |[EEH R AT FA/R Btk 4401011 |B#EE 2 H12 3.90
K |[EEH R AT FA/R Btk 4401011 |B#E 2 H13 2.23
EfE | ER| R AT RTE oh = 4401020 iR TF& H9 1.00
EfE | ER| R AT RTEE o = 4401020 [iRTF& H10 0.79
EfE |ER™| R AT RTEE o = 4401020 [JRTF& H11 0.91
ERE | ER| R AT RTE b s 4401020 [iRTF& H12 3.18
Eil [ERH itk F% T pE 2 4401030 g H11 0.50
Ei [T kB T S 2 4401030 g H12 3.50
Eil [EMH itk B T S 2 4401030 g H13 2.07
ERE |ER| = BEHf A FEDIR 4402010 |[FR SH4 3.68
ERE |ER| = BEHf A FEDIR 4402010 |[FR Sh5 2.43
K [EREH /NE HT Fein /R 4502010 [LLU= S49 4.93
K [EREH /NE HT i /R 4502010 [LLU= S50 10. 00
K [EREH /NE HT Fein /R 4502010 [LLU= Sh1 2.50
K [EREH /NE HT INELL E28d 4502020 [#X S48 3.00
K [EREH /NE HT INE L E28d 4502020 [#X S49 7.00
K [EREH /NE HT INE L MR 4502020 [#hX S50 9.20
K [EREH /NEIRT INEF =5 4502030 [/\EF Sh1 8.00
K [EREH /MNEIET INEF =5 4502030 [/\EF S52 4.00
K [EREH /NE HT ESdE —/ X 4502040 |fHEFIR S52 3.91
K [EREH /NE HT EESdE —/ X 4502040 |(fHEFIR SH3 4.00
K [EREH /NE HT ESdE —/ X 4502040 |fHEFIR SH4 3.89
K [EREH /NE HT ES R 2/ X 4502041 |#BEFIRE 2 H3 1.71
K [EREH /NE HT ESdE 2/ X 4502041 |#BEFIRE 2 H4 4.86
K [EREH /NE HT ESdE $i=ER 4502050 [IXz45 Sh5 4.76
K [EREH /NEIET ESdE $i=ER 4502050 [Xz45 S56 5.83
K [EREH AN ESdE $i=ER 4502051 [IRIBE 2 H4 4.30
£ |EiH AN ESdE $i=ER 4502051 [IRIBE 2 H5 5.18
£ |EiH AN ESdE $i=ER 4502051 [IRIBE 2 H6 0.55
K [EREH AN EIR FX 4502060 ;&R S56 3.00
ERE |ERE| /NEIRT EIR FX 4502060 ;&R Sh7 11.44
ERE |ERE| /NEIRT EIR FX 4502060 ;&R SH8 6. 96
ERE |ERE| /NEIET EIR FX 4502060 [i&iR H5 0. 60
ERE |ERE| /NERT 1R £iR 4502070 |[=ZA&H0 S52 3 82
ERE |ERE| /NERT 1R £iR 4502070 |[=ZA&H0 S53 7 80
ERE |ERE| /NERT 1R £R 4502070 |[=ZA&H0 SH4 3 85
K [EREH AN 1R /R 4502080 |EiH SH8 5.00
K [EREH /NE HT 1R /R 4502080 |EiH SH9 10. 54
ERE |ERE| /NEIRT HZFh THR 4502090 |FHFt S60 6.79
ERE |ERE| /NEIET HZFh THR 4502090 |Ft S61 7.60
K [EREH /NE HT +tHHE a4 iR 4502100 [ HHT S62 7.96
K [EREH /NEIRT +tHHE a4 iR 4502100 [ HHT S63 1.09
£ |EiH /NEIRT FAR XX 4502110 |F8R H1 4.00
K [EREH /NEIET FAR XX 4502110 |F8R H2 8.00
K [EREH /NEIET FAR XX 4502110 |F8R H3 5.50
£ [ER| /NEIRT EXR KE 4502120 [;&=FK H7 3.00
£ |[ER| /NEIRT EXR KE 4502120 &K H8 2.00
£ [ER| /NEIRT EXR KE 4502120 &K H9 1.32
£ [ER| /NEIRT iR ¥/ 4502130 |#iR H10 4.56
£ [ER| /NEIRT iR ¥/ 4502130 |#iR H11 1.85
il |[ERH JI1 2 HT =TS EER 5441010 |F0/E;E S60 2.95
il |[ERH JI1 2 HT =TS EER 5441010 |#0/E;E S61 4.00
il |[ERH JI1 2 HT =TS EER 5441010 |F0/E;E S62 3.00
£ [ER| JIIEAHT =TS Jt / [ 5441011 |FIEEESE 2 H2 3.40
£ [ER| JIIEAHT =TS Jt / [ 5441011 |FIEEESE 2 H3 1.59
il |[ERH JIIEAHT JIOAZELL AL 5441020 |HZELL S61 1.00
il |[ERH JIIEAHT JIOAZELL AL 5441020 |HZIL S62 3.00
il |[ERH JIIEAHT JIOAZELL AL 5441020 |HZIL S63 5.00
il |[ERH JIIEAHT JIOAZELL AL 5441020 |HZIL H1 1.35
il |[ERH JIIEAHT JIOAZELL AL 5441021 |AZEILE 2 H1 6.40
il |[ERH JIIEAHT JIOAZELL AL 5441022 |HZEILE 3 H1 4.69
il |[ERH JIIEAHT JIOAZELL AL 5441022 |HZEILE 3 H2 10. 50
il |[ERH JIIEAHT JIOAZELL AL 5441022 |HZEILE 3 H3 7. 91
il |ERH JIIEAHT JIIOEZELL XA 5441023 |HAEILE 4 H4 2.40
il |[ERH JIIEAHT JIIOEZELL XA 5441023 |HAEILE 4 H5 1.45
Rl |EiH JIIEBHT JIOAZELL ALl 5441024 |HZELLES H5 4.50
Rl |EiH JIIEBHT JIOAZELL ALl 5441024 |HZELLFES H6 1.50
Rl |EiH JIIEBHT JIOAZELL JILA 5441025 |AZEILE 6 H6 9.17
Rl |EiH JIIEBHT JIOAZELL JILA 5441025 |AZEILE 6 H7 9.30
R [=&Th —%mh E PN EiR 4204010 |5 S59 5.37
£l |[=%&1F =&t E PN EiR 4204010 |58 S60 6.10
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Hbig BT |H 7 BT REXF RE=F Mih&E S GifiuE Fil F EHEmE
@ |=&w% THA dEREEI =5 4362010 [dtFEEBEIII S52 2.66
@ |=&w% THA dEREEI = 5 4362010 [dtFEBEIII S53 4.00
@ |=&w% THA [ y=p1l =5 4362010 [dtFEEBEIII Sh4 6. 00
@ |=&w% THA dEREEI =% 4362010 [dtFEEIII S60 0.34
@ |=&w% THA ;A | 4362020 [;T0O S55 5.00
@ |=&w% THA ;0 | 4362020 [;T0O S56 5.60
@ |=&w% T HAT $45y S 4362030 (4458 Sh7 7.00
@ |=&w% T HAT $45y S 4362030 (4458 SH8 6.49
@ |=&w% T HAT $45y S 4362030 |44 8 SH9 0.49
@ |=&w% T HAT $45y S 4362031 |5 BE 2 H3 2.90
@ |=&T% T HAT $45y S 4362031 |45 EE2 H4 3.32
@ |=&w% T HAT $45y S 4362032 |45 BHES Hb 4.60
@ |=&w% T HAT BiA TR 4362040 |EmiA S61 3.00
@ |=&w% T HAT BA TRk 4362040 |EmiA S62 3.00
@ |=&w% T HAT BiA TR 4362040 |EmiA S63 3.00
@ |=&w% T HAT BiA TR 4362040 |EmiA H1 2.50
@ |=&w% T HAT BA TR 4362040 |EmiA H2 0.80
@ |=&w% THA EEN =/ A 4362050 (g S61 3.00
@ |=&w% THA EEN &=/ A 4362050 [gH&S S62 3.00
@ |=&T% THA EEN &=/ A 4362050 gAY S63 3.00
@ |=&w% THA EEN &=/ A 4362050 [gH&S H1 2.50
@ |=&w% THA EEN =/ A 4362050 [gH&S H2 3.178
@ |=&w% THA EEN =/R 4362051 | 2 H1 0.97
@ |=&w% THA EEN =/IR 4362051 | 2 H2 2.31
@ |=&m% THA EEN =/R 4362051 | 2 H3 1.90
@ |=&w% THA EEN =/IR 4362052 |BHARE 3 H5 4.73
@ |=&t% THA EEN BT/ A 4362053 |BIRE 4 H6 6. 86
@ |=&T% T HAT b Y& 4362060 |dhiiE H3 4. 43
@ |=&w% T HAT b bt 4362060 |dhiiE H4 4 .58
@ |=&m% T HAT b bt 4362060 |dhiiE Hb 0.30
@ |=&mH T HAT Bk Y@ 4362061 |HhiEE 2 H8 2.36
@ |=&mH THA EEN =/ A 4362070 &%/ A Sh7 2.29
@ |=&mH THA EEN =/ A 4362070 &%/ A SH8 1.39
@ |=&m THA EEN BT/ A 4362080 |HFF/ A H6 4.35
@ |=&mH THA EEN BT/ A 4362081 |HFF/ AE 2 S47 2.71
@ |=&m% T HAT KR N/ & 4362090 |Eih H8 6. 50
@ |=&m T HAT Z2F Ay 4362100 (& T H9 2.50
@ |=&m% THH Z2F Ay 4362100 (& T H10 9.65
@ |=&m THH Z2F Ay 4362100 (& T H11 1.96
@ |=&mH T HAT Z2F 5= REFH 4362101 |2 TFE 2 H9 2.50
@ |=&m% T HAT Z2F 5= REFH 4362101 |2 TFE 2 H10 1.50
@ |=&m T HAT Z2F 5= REFH 4362101 |2 TFE 2 H11 4.17
R [=&h T HAT 4T ./ AH 4362102 |2 FE 3 H13 5.05
R [=&h T HAT 4T ./ AH 4362102 |2 FE 3 H14 4.83
@ |=&m T HAT TXH b= 4362110 | KH=Z H12 3.85
@ |=&m% THA ik H Xi 4362120 |ERH H12 5.00
ERFE |=&th THA ik H KR 4362120 |ERH H13 3.30
@ |=&m THA ik KR 4362120 |ERH H14 1.80
ERFE |=&th THA ik H KR 4362120 |ERH H15 6. 88
R |=&th T HAT ik H Bl 4362121 |EREHE 2 H16 3.00
K |=%W K HET INE = 4363010 [/h\i&E S52 3.00
El [=%&Th K HET INE = 4363010 [/h\i&E SH3 4.00
El [=%&Th K HET INE = 4363010 [/h\i&E SH4 3.00
E [=%&Th K HET itia i2oh 4363020 [dt;B H3 8.50
El [=%&Th K HET itia i2oh 4363020 [dt;B H4 6. 60
E [=%&Th K HET itia i2oh 4363020 [dt;B H5 1.36
KMl |[fAH & i KR 4205010 |#mi#% S48 10.57
KMl |[fAH & i KR 4205010 |#mi#% S49 3.00
Kl |[fAH & i KR 4205010 |#mi#% S50 10. 36
KMl |[fAH & i KR 4205010 |#mi#% S57 0.38
R [tA&H 5 h KE E3E 4205020 (/K E S51 12.00
KR [tA&TH 5 h KE E3E 4205020 (/K E S52 18. 00
KR [tA&TH 5 h KE E3E 4205020 (/K E S53 14.97
R [tA&H 5 h KE E3E 4205020 (/K E S54 2.00
KR [tA&TH 5 h KE E/ R 4205021 |[/KESE 2 S54 3.00
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EE |[EEh Hiast FEEAE R 8604080 |&i& H9 1.00
EE |[EEh Hiast FEEAE R 8604080 |&i& H10 0.80
£E |[EEh Hiat FEEAEEFIR 8604080 |&EiH H11 0.50
EE |[EED Hiast FREXR 8604090 |HXK H13 2.00
EE |[EEh #iEst FREXR 8604090 |HXK H14 3.92
EE |[EEh 8 27 BT =)\ TE 8605010 |3=/\ S53 5.00
£E |[EEh 0 27 BT =/\ TE 8605010 |3=/\ SH4 5.00
EE |[EED 0 27 BT EEHI FRE 8605020 |ZEEF:T S58 2.78
EE |[EEh 8 27 BT EEHI FRE 8605020 |ZEEFiT S59 4.00
EE |[EED 0 27 BT EHII FRE 8605020 |3REFiT S60 5.30
EE |[EED 0 27 BT EAA v 8605030 |F¥¥ S63 2.00
EE |[EED 8 27 BT EAA v 8605030 |F¥¥ H1 3.00
EE |[EEh 8 27 BT EAA v 8605030 |F¥¥ H2 3.00
£E |[EEh X 27 BT AN Ev¥ 8605030 |F¥ ¥ H3 0.88
EE |[EEh EEPHT T H ##i5 8606010 |77H S55 3.00
EE |[EET E 5T T H #i5 8606010 |77H S56 5.00
g |[EET E 5T ol ##ix 8606010 |#7H S57 3.00
EE |[EET E 5T ol ##ix 8606011 |PTHZE 2 S58 4.00
EE |[EET E 5T ol #ix 8606011 |PTHZE 2 S59 4.00
EE |[EET E 5T Wiz #ix 8606011 |PTHZE 2 S60 3.30
g |[EET E 5T = [ ##ix 8606020 | #HT S60 0.90
EE |[EET E 5T = [ ##i5 8606020 | #HT S61 5.95
EE |[EET E 5T = [ #ix 8606020 | #HT S62 1. 69
EE |[EET E 5T = [ ##i5 8606020 | #HT S63 1.97
1EE |[EET E 5T = [ ##ix 8606020 | #HT H1 1.96
EE |[EET E 5T = [ ##i5 8606020 | #rHT H2 2.00
1EE |[EET E 5T = [ TWAVR 8606021 |#HTEE 2 H2 2.00
EE |[EET E 5T = [ TWAVR 8606021 |#HTEE 2 H3 2.00
1EE |[EET E 5T = [ TWAVR 8606021 |#HTEE 2 H5 1.10
EE |[EET E 5T = [ TAVR 8606021 |#HTEE 2 H6 0.60
EE |[EET E 5T ol TWwREF 8606030 |40 %5 S63 3.00
EE |[EET E 5T ol TWwREF 8606030 |#r4H %7 H1 3.00
EE |[EET E 5T ol TWwREF 8606030 |40 %5 H2 3.00
g |[EET E 5T ol TWwREF 8606030 |#r4H %7 H3 3.00
EE |[EET EIPHT i) TWwREF 8606030 |40 %5 H4 3.00
1£E |[EET EIPHT Wiz TREF 8606030 |40 %5 H5 2.65
1£E |[EET EIPHT Wiz TRREF 8606030 |40 %5 H6 3.20
1£E |[EET EIPHT Wiz LS 8606030 |34l %5 H7 1.00
1£E |[EET EIPHT Wiz N 8606040 [#rEF H7 1.00
1£E |[EET EIPHT Wiz N 8606040 [#rEF H8 1.00
£EE |EET EEPHT T H N 8606040 [#rEF H9 1.50
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Hbig, LR |H BT A REXF RE=F Mih&E S M ih 4 HEH EHEMmE
g [EET E5pHT T2W BEDLE 8606050 |TEIL S45 0.42
EE [EET ETH T2W BDLE 8606050 |TEIL S50 4.65
EE [EET E5HT = 215 8606060 | H8 2.00
=g [EET E5pHT = ] 215 8606060 | H9 2.00
EE [EET E5pHT = ] 215 8606060 | H10 1.00
EE [EET INAHET INEZ 8607010 [/]\EEBY H1 2.00
=g [EET INAHET INEZ- 8607010 [/[\EEBY H2 2.00
EE [EET INAHET INEZ 8607010 [/]\EEBY H3 1.00
&g [EET INAHET INKEHEFH 8607020 |fBIEA H4 3.00
EE [EET INAHET INKEHEFH 8607020 |[TBiEAKR H5 2.55
=& [EET INARHT BIEAKR 8607021 |TBIEARE 2 H13 4.16
=B [EET INARHT BIEAK 8607021 |[TBIEARE 2 H14 5.08
=B [EET INAKHET INAHET 8607030 |4} LF H6 3.00
=B [EET INAKHET INAHET 8607030 |4} LF H7 2.00
=B [EET INAKHET INAHET 8607030 |4} LF H8 1.04
=B [EET INAKHET INAHET 8607040 [#1)1] H10 2.99
=B [EET INAKHET INAHET 8607040 [#1)1] H11 1.50
=B [EET INAKHET INAHET 8607040 [#1)1] H12 1.14
=B [EET INAKHET INAHET 8607040 [#1)1] H13 0.47
&g |EET INAHET /NAKET 8607050 |AEFid H16 3.22
=B [EET FraFt TIE 8609010 |XZE (F=-HHhED) S48 10. 26
=B [EET FRaFt TIE 8609010 |XZE (F=-HHhED) S49 1.26
=g [EET FraFt TIE 8609010 |XZE (F=-HHhED) H15 1.50
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